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WRITTEN PRACTICE ANSWERS

1   See student work. Polygon 
should have five straight 
sides. Sample: 

  2 60 × 50 = t; 3000 times

3 101 − 98 = d; the 
temperature increased 3°F.

4 124 − 77 = d; 47 fewer 
books

5 5  1 __ 
4
  feet 

6 Sample:

7 
7 ___ 

10
   

8 3   2 __ 
3
 

9 
3 ___ 

10
 

10 3

11 2   1 __ 
2
 

12 200

13 
2 __ 
5
 

14 =

15 .50

16 $26.34

17 5467

18 1647

19  27,680 

20 $652.50

21 469,000

22 434

23 $2.20

24 33 R 1

25   19°C  

26 C

27 C

28 5

29 
5 ___ 

12
 

30  Yes; sample: 431 is about 
420; 42 ÷ 7 = 6, so 420 ÷ 7 
= 60 .

Early Finishers:

456
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